
¬P ∨ Q , P ∨ ¬Q ⊢ P ↔ Q

I try to prove that ¬P ∨ Q , P ∨ ¬Q ⊢ P↔ Q.
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�e �rst premiss is ¬P ∨ Q. I try to
apply ∨Elim.
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So I assume ¬P and Q.
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I want to prove Q from P. Combin-
ing this with a proof of P from Q
will allow me to prove the conclu-
sion. To derive Q from P I assume
P.
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I apply ¬Elim to ¬Q, which has not
been assumed. �is gives Q.
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Now I can apply ∨Elim and dis-
charge the assumptions ¬P andQ.
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To prove P from Q I proceed in an
analogous way.
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Now I can apply ↔Intro and dis-
charge P in the proof on the le� and
Q in the proof on the right.


